oO0O0o0oogd g0

24 00O

X, YOUooooooXoooo00o0YUOoodyOoooo
000 fO0000 XOOOOYOOOO (mappingmap) 0000

f:X—y ooo @ x-Lvy

ooooooo
DzeXOODOD0O0OO0yeYODOD fO000 200 (image) 00
O0y=f(x) 000000020 fO00 yO00O (preimage) 00O
O002000000000000 (0000000000 DO0O0)
000y00000000000000000000000000
000000000000000000000000 (function)®
Ooooo

02000 f(2)000000000 z+— f(x)0000000
D0000000000000000002000 y= f(z) = 2
OD0D0D0D000O0RODOROOOOOOODODfOO0OzeRO
D0 2200000000

f:R — R

J]'—>JZ2

gboboobobboooobbobuoooobbbooobboboo

X Y

OO0 27 XO0yooooooxooyooooo f:X—YO
god

oo0o0000000000000000000000000000000
obooobooboooooboboooooboooooboobooboDbo
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(1)

0000 XOO0O00O (domain) 0000Y 00O (codomain)
gobog

fX)={f@)|zeX;={yeY|[IreX y=f(z)}
000 (range) 10000 (image) DO 00O

00 XO0O X0000000000000 z€X 0200
000000000 (identity map) D00 Didy 000 1x O
0000000 (00000Ve € X idy(z)=20000)0

f(X)=Y OOO0OOOOOoOOf0O 00 (surjection) DO 00O
00000 (onto map) 0000

O000YOOOO f(X)CYOoooooooooooooo
O0000000Y CfA(X)ODOOOoOooooooooooo
gobooboogog

[ VyeY dreX y=f(x) )

gbobugbobuoobobogboboobobogo

X Y

0000 2,20 € X 000002 # 2, 0000 f(ay) #
flz) 00000 f 000 (injection)0 000 101000
(one-to-one map) 00000000000 000000O0O
Doo0o0o0o0o00

X Y

N 77
AN
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ooooooooogg
[ Vo, xg € X 11 # 29 = f(21) # f(22) ]

gobobbooooon

[ ‘v’xl,xg eX f(xl) = f(l’g) > T = T2 ]

gbobbooooobboboooobbobooogooboo
goobooooboo

(5) 00 fO00D0DDOODODODOODOOOOO (bijection) D000

(6) 00000 f: X—Y ,¢9:Y—Z0000h(x) =g(f(2))
oob A X—2Z000000000OD0O fOg¢gO0O0O0ODOO
(composite mapping) DO 0O0Oh=go f00000000OO

(7) OO000D0 f: X—YOyg:Z—WOOOOOOOO 20O
O0booooboobDf=9g0000X=Z0Y=W0OO

Vee X f(x)=g(z)

gboobuooboobboobbooboooboboonbbo
gboobooboobooodg

0000210 X={1,2}0000000000000000 X
gboobobodgboobobuoogbbuodgboobbaoboo
gobbooooobobooooboboboo

0000 211 X={1,23}000000000000000O
XO0oooboooboboboboboboooooooobooooo
goobooooboo

0000 (000O000000O00)0 Xooooooyooo
oooboboobooboo f: X—YUOOUOOooboooooo
0000000000000 000D0O0 (Doooooooooo)
goboooboooogn

obodb 212 NOONOOODOOODOODOODOOOOOODO
o000 NOONQODOODOODOODOODbOoDbOoDbOoDbOoo
gobooo

f:X—YODOOOOOyO200000000000000
00000 y=f(z)=220200y0000000000000
00000y=f(z)=+*00000000(00)0000000
00000 (000000)000000y=f(z)=2?00000
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gbogobuodgbbbodgbogobuodgboobobuooboo
gboboobog
gboogbobogoboobboobuoobboobuodgboo

gbobogbbodgbbodobooobuoooobbooboo

1
gbogobogboobooboboobuoobobbobldy=—
x

gbhooboobobobbobboo IInnoboobooboobo
O000000X={xz€eR|2z£40} 0000000000000
gbobobooogbbobuoooobobbooon

OO0 2800 f: X—YOUOO

Gr={(z,y) e X xY|y=f(z)}

000 fO0000O (graph) 00000000 OODODODOOOOO
X, YouoouooboboboobooboX =Y =ROOOOOOO
gbbboooobbbooodobbboodan

ud 29 00dgouobobuooobobobboooouobbbua

O00obobobobbodbeb0e<b0O0D00OO0OOO0OO
0000000 {z€R|a<2<b}00000000(a b]0

D00{ze€R|a<z<b}00000000(q b)0000
O0000000 {zeR|la<z<b}O00{zeR|a<z<b}

000000000000000000a,b)000 (a,b]00

goboooooon

a N

| ={zeR|ja<x<b}

) ={zeR|la<z<b}

) ={zeR|a<z<b}

]

N J
gooo

co0000000000000000 [a,00)0000000O0O
gobbooboooggn

[a,0)={zeR|a<zr <0}

D000{zeR|a<2z}000000000 [a,00]000 000
0000000000000000000

0 2.10 O

(1) f:R—RO f(z)=22000000000000000 R
D000DO0DO0O0OROOOOf(1)=f(-1)=10000000
0000000200000000000000000000
;00000000
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00 f(R)0 00000000000
fR)={yeR|y>0}=10,00)

000 (0000 21300)0000 00000000
(2) f:R—1[0,00)0 f(z) =22000000000 f0 (1)0O
f0000000000000000000(1)000000
0000000 (1)0 /00000000000 (2)0 f00
0oo00
(3) f(x)=220000020000000000000000
00000000f0 f:[0,00)—ROO0D00000O00OO
00 f([0,00)) 0000 [0,00)0000
D0000f0([0,00)000000000000000 (0
000 21500)0000000000 (0000 21300)0
(4) 0000 f(z)=2?0000020000000000000
0000000000000000/f0 f:[0,00)—[0, c0)
0000000000
(3)00000000 0000000000000 f£([0, o))
0[0,00)00000000000000000C
(5) 000000 f(x) =220000020000000000
00000000000 X ={zeQ|z>0}0000f0
f:X—X00000000000000 0000000
00000 (0000 21300)0

DooQg 2.13

()0 210 (0000 fR)={ycR|y>0}00000000
000000000 gz)=+/2 0000000000000
000

(2) 0 210 (3)0000 £([0,00)) =[0,00)00000000
000000000 gz)=+/2 0000000000000
000

(3)0 210 (5)0 fO0D00D0O0OOOOOOV20000000
00000000000

0D000*2.14 0000 213000000y=+,200000
000000000000000000000000000y =2
00 210 (4000 y=2200000000000000000
000000000000000000000000000000
0000 f(x)00000000000000000000000
00y=,2z0000 f(z)00000000000000000
000

0000y=+./2000000000 210(1)0000 f(R) =
{yeR|y>0}000000000000000000000 ([a,b]
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00000000000 f(e)0 f(b)0000 000 a=f(c)0
D0c(a<e<bh)00000)000000000

0000215 X, YOOOOOoOooooooof:-X-—yood
DDD(VI’l,I’QEXI'1<$2 :>f($1)<f($2))DDDDDDD
goooodoo

OO0 211 f: X—YOUOOOOOOOoOyYyoooooo yOoo
O00f(x)=y 000 XOOO 20000000DOOO

00 f:X—YOOOOOOOYOOOOOyOOOOOO
DreXO0O00000y=f(zx) 0000000
fO0000000f(z1)=f(2)=y 0000000 a1 =, O
00000000000000f(z)=y000000 20000
Doooon

f:X—YDOODODOOOOOyeY OOOOOy = f(x)O
000 zeXOUOOODODODODODOOOODOOD fODOD
(inverse map) 0000 f': Y —X O00O0O0OD0O0OOOOO0OOO
00f(z)=y 000 f Y (y)=2 0000000000

flof=idx  fof '=idy
gdoogdd

0 2.12
(1) f:R—(0,00)0 f(z) =2°0000 f0000000 (4
000D)00000f0000 f':(0,00)—ROO0O0O
00000 f'(z)=log,z0000
(2)f:]0,00) —[0,00)0 f(z) = 2200000000000
000000000 f':]0,00)—[0,00) 0000000
00 f'(z)=+20000
(@fﬂ—%yg}—ﬂ—lejﬁﬂ:mmDDDDDDDDD
DMDDDDWDDDDDDDf*ﬂ—Ll}%[—%,g}
00000000000 f'(2) =arcsinzg 00000000
00 z0000sin"'200000000000000000
D000D00000D0000000000000 4000
000000000000

0000216 f:X—Y,¢:Y—2Z0000O
(1) fO ¢y0000000gof:X—2Z00000000000

000
(2) f0 ¢g00000O0O0gof:X—2Z00000000000

ooo
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gobobooogbbbuoooobbbooooboboao

0000217 X,YOOOOOOf:X—YOOOOA, BO X
000000000000 f(A) ={f(a)]acA}={beY|Jac Ab= f(a)}
oooooo

(1) ACBOODO f(A) Cf(B)ODOOOOO

(2) f(AUB)=f(AuUf(B)OoOOO00OO

3) fIANB)C f(A)Nf(B)0D0OO0DOO

4) fIANB) = f(A)Nf(B) 000000000000

0000 (2),(3) 00000000 27000000004 00
0000000 ANB=@00 f(ANf(B)#¢p0000000

0ooo

U
N
N

0000218 X, YOOOOOOf:X-—YOOOOA BO
Yy 000000000000 f7YA) ={zeX|f(x)eA} DO
0000

(1) ACBOOO fY(A)CfYB)ODOOOODO

(2) ffHAUB)=fH(AUf(B)oOO00OO0

3) FFYANB) = fY(A)nfY(B)0DODOO0OO

00002170 f(A)0OD0O0DO 2180 f~4(A)000000
f(A)ODDDO00ADDD fO00000000O0OOOOOO AQ
00«0 f0000 f(@)000000000000O000000
0oooo

f(A)00000 A0 f'000000000000000 f-
00000000000000000000 00000000
00 f~Y(A)0000000X00 20 f(z) e ADDOOOOO
000000000000 f~4(4)0000

ooob 219 0000 fO0DO000O0O0ODODOOOOODOOOO

ooo0ooooooogoooooooooogon

()X ={1,23)0Y ={1,23} f: X —Y O f(1)=2f(2) =
1,f3)=3000000

(2) X ={1,2,3,4)0Y = {1,2,3} f: X—Y O f(1) = 2, f(2) =
1,f(3)=3,f4)=1000000

3) 00 f:R—[—-1,1]0 f(z) =sinz000000

(4) 00 f:[0,00) — RO f(z)=2*000000

(5) 00 f:[0,00) — RO f(z)=22000000

6) 00 f:[0,00)—[0,00)0 f(z) =2300000000

x>0000 ¢2000000000000000
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